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3-6 Lines in the coordinate Plane

Given the equation in slope-intercept form, first describe how to graph the

line, then graph it.

1) Yy=-3X+6

Slope (m) = y-intercept (0, b) =
Describe in words how to graph the line:

2) Y=4x-8

Slope (m) = y-intercept (0, b) =
Describe in words how to graph the line:

1
3)y=—§X—8

Slope (m) = y-intercept (0, b) =
Describe in words how to graph the line:




Graphing Lines using Standard form and Intercepts

Given each equation in the form of AX+ By =C | use the x and y-intercepts to draw each

graph. (Show work, off to the side)

Then use the points to find the slope of each line.

5) 5x+2y=-10
6) —2Xx+3y=-12




